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Chapitre 4 : Comment sortir  d’une récession (ou cr ise) ? 

 
Question 7 
 
!	
   A)	
  Lors	
  des	
  récessions	
  (crises),	
  les	
  anticipations	
  pessimistes	
  des	
  ménages	
  et	
  entreprises	
  se	
  forment	
  
ce	
  qui	
  entraîne	
  une	
  hausse	
  de	
  l’épargne	
  de	
  précaution.	
  E)	
  En	
  effet,	
  à	
  cause	
  de	
  la	
  récession	
  (dégradation	
  
de	
   la	
  situation	
  économique)	
   les	
  ménages	
  et	
   les	
  entreprises	
  craignent	
  une	
  dégradation	
  de	
   leur	
  situation	
  
future,	
  ils	
  redoutent	
  d’être	
  au	
  chômage	
  ou	
  de	
  vendre	
  moins,	
  ce	
  qui	
  feraient	
  baisser	
  leurs	
  revenus.	
  Pour	
  se	
  
protéger	
  contre	
  cette	
  baisse	
  possible	
  de	
  leurs	
  revenus	
  futurs,	
  ils	
  décident	
  d’épargner	
  davantage,	
  c’est-­‐à-­‐
dire	
   de	
   «	
  mettre	
   de	
   l’argent	
   de	
   coté	
  »	
   pour	
   se	
   constituer	
   une	
   réserve	
   dans	
   laquelle	
   puiser	
   en	
   cas	
   de	
  
difficultés	
  financières.	
  
	
  
"	
   A)	
  Lors	
  des	
  récessions,	
  les	
  ménages	
  et	
  les	
  entreprises	
  augmentent	
  leur	
  épargne	
  de	
  précaution	
  ce	
  
qui,	
   d’une	
   part	
   pour	
   les	
   ménages,	
   entraine	
   une	
   baisse	
   de	
   leur	
   consommation,	
   d’autre	
   part	
   pour	
   les	
  
entreprises,	
   entraine	
   une	
   baisse	
   de	
   leurs	
   investissements.	
   E)	
   En	
   effet,	
   si	
   les	
   ménages	
   épargnent	
  
davantage,	
   cela	
   conduit	
   mécaniquement	
   à	
   une	
   baisse	
   de	
   leurs	
   dépenses	
   de	
   consommation,	
   puisque	
  
l’épargne	
   est	
   la	
   partie	
   non	
   consommée	
   du	
   revenu.	
   A	
   revenu	
   donné,	
   si	
   l’épargne	
   augmente	
   c’est	
  
nécessairement	
  au	
  détriment	
  de	
  la	
  consommation	
  à	
  laquelle	
  les	
  ménages	
  doivent	
  renoncer	
  partiellement	
  
afin	
  de	
  «	
  faire	
  des	
  économies	
  ».	
  Le	
  même	
  mécanisme	
  se	
  produit	
  pour	
  les	
  entreprises,	
  épargner	
  plus	
  pour	
  
elles	
  implique	
  de	
  moins	
  dépenser	
  en	
  investissement	
  c’est-­‐à-­‐dire	
  en	
  achats	
  de	
  machines.	
  	
  
	
  
#	
   A)	
  La	
  hausse	
  des	
  stocks	
  invendus	
  entraine	
  une	
  baisse	
  de	
  la	
  production	
  de	
  machines	
  et	
  de	
  biens	
  et	
  
services	
   par	
   les	
   entreprises.	
   E)	
   En	
   effet,	
   si	
   les	
   entreprises	
   qui	
   fabriquent	
   les	
   biens	
   et	
   services	
   et	
   les	
  
machines	
  voient	
  leurs	
  stocks	
  d’invendus	
  s’accroitre,	
  elles	
  vont	
  décider	
  de	
  produire	
  moins,	
  car	
  en	
  effet,	
  à	
  
quoi	
  sert-­‐il	
  de	
  produire	
  autant	
  qu’avant	
  quand	
  on	
  a	
  du	
  mal	
  à	
  vendre	
  comme	
  avant	
  ?	
  
	
  
$	
   A)	
   La	
  baisse	
  de	
   la	
  production	
  des	
  entreprises	
  entraine	
  une	
  baisse	
  des	
  embauches	
  et	
  des	
  heures	
  
supplémentaires.	
  E)	
  En	
  effet,	
  pour	
  diminuer	
  leur	
  production,	
  les	
  entreprises	
  vont	
  temporairement	
  arrêter	
  
des	
  unités	
  de	
  production,	
  fermer	
  des	
  chaînes	
  de	
  production	
  ou	
  arrêter	
  de	
  produire	
  la	
  nuit,	
   le	
  week	
  end	
  
etc.	
   Ainsi,	
   elles	
   auront	
   besoin	
   de	
   moins	
   de	
   main-­‐d’œuvre	
   et	
   baisseront	
   les	
   embauches	
   et	
   heures	
  
supplémentaires	
  voire	
  licencieront.	
  
	
  
%	
   A)	
  Lorsque	
  les	
  profits	
  diminuent,	
  cela	
  entraine	
  une	
  baisse	
  des	
  revenus	
  des	
  ménages.	
  E)	
  En	
  effet,	
  
les	
  profits	
  sont	
  les	
  bénéfices	
  réalisés	
  par	
  les	
  entreprises	
  et	
  ils	
  rémunèrent	
  les	
  propriétaires,	
  les	
  profits	
  sont	
  
leur	
   revenu.	
  Or,	
   les	
   propriétaires	
   d’entreprises	
   sont	
   aussi	
   des	
  ménages	
   qui	
   perçoivent	
   des	
   revenus	
   du	
  
capital	
  (profit)	
  tout	
  comme	
  les	
  ménages	
  de	
  salariés	
  perçoivent	
  des	
  revenus	
  du	
  travail	
  (salaire).	
  
	
  
&	
   A)	
   La	
   baisse	
   de	
   la	
   production	
   de	
   biens	
   et	
   services	
   par	
   les	
   entreprises	
   entraine	
   une	
   baisse	
   des	
  
dépenses	
  de	
  consommations	
  intermédiaires.	
  E)	
  En	
  effet,	
  si	
  les	
  entreprises	
  produisent	
  moins,	
  elles	
  auront	
  
besoin	
  de	
  moins	
  de	
  matières	
  premières	
  ou	
  pièces	
  détachées	
  achetées	
  aux	
  entreprises	
  qui	
  les	
  fournissent,	
  
&	
  et	
  ces	
  dernières,	
  à	
   leur	
   tour,	
  vont	
  aussi	
  moins	
  vendre,	
  donc	
  moins	
  produire,	
  donc	
  moins	
  acheter	
  de	
  
consommations	
  intermédiaires	
  à	
  leurs	
  propres	
  fournisseurs	
  etc.	
  C’est	
  ainsi	
  que	
  les	
  récessions	
  se	
  diffusent	
  
à	
  toute	
  l’économie,	
  toutes	
  les	
  entreprises,	
  tous	
  les	
  secteurs	
  finissent	
  par	
  être	
  touchés.	
  
	
  
'	
   A)	
   Quand	
   le	
   chômage	
   augmente	
   cela	
   entraîne	
   une	
   nouvelle	
   dégradation	
   des	
   anticipations	
  
pessimistes	
   des	
   agents	
   économiques	
   (ménages	
   et	
   entreprises).	
  E)	
   En	
   effet,	
   la	
   hausse	
   du	
   chômage,	
   qui	
  
touche	
   l’entourage	
   familial	
   ou	
   amical,	
   ou	
   dont	
   on	
   entend	
   parler	
   dans	
   les	
  médias	
   va	
   accroitre	
   la	
   peur	
  
d’être	
  soi-­‐même	
  au	
  chômage	
  ou,	
  pour	
  les	
  entreprises,	
  l’anticipation	
  que	
  leurs	
  ventes	
  vont	
  encore	
  baisser	
  
puisque	
  les	
  chômeurs	
  plus	
  nombreux	
  ont	
  moins	
  de	
  revenus	
  pour	
  consommer	
  leurs	
  produits.	
  
 


